10 May 201
GOES X-ray Flux
o X
S
oM
o
o}
O B A
A
18:00 22:.00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
. ESP 0-7 nm
e 0.25[ 7
> .
€ 0.20f .
o L ? ]
m 0.15[ TS — S ——
..w - .
£ 0.10C ]
18:00 22:.00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
— m0|uw nm
€ 2.00 3
~ E
= 1.95F =
E E 3
o 1.90F =
(8] E 3
C e 3
O 1.85F E
S E =
£ 1.80E
18:00 22:.00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
N Fe XX 13.28 nm (log T=6.97)
¢ 8.2x10™* ]
s ' ;
£ 7.7x107 P vy 51 T A
w H+ A v TR ¢ 5, ML Gt " s 4.0
g 7.2x107* * . P gy ) A
2 C + + + PRSIy
£ 6.7x107L
18:00 22:.00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
. Fe XVIIl 9.39 nm (log T=6.81)
% 0.0042
s
€ 0.0040
[O]
€ 0.0038
£
2 0.0036
18:00 22:.00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)

0

Irradiance (mW/m?)

= Fe XVI 33.54 nm (log T=6.43)
< 0.012
s
€ 0.010
[0
£ 0.008 .
S C ]
£ 0.006C ]
18:00 22:.00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
Fe XIV 21.13 nm (log T=6.27)
0.01370 ]
0.01303 ) .
0.01237 .
0.01170 o A AW
18:00 22:.00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
= Fe XIl 19.51 nm (log T=6.13)
< 0.032
s
€ 0.031
[0
£ 0030
B
£ 0.029
18:00 22:.00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
. Fe IX 17.11 nm (log T=5.81)
 0.060
s
€ 0.058§
[0
£ 0056
B
£ 0.054
18:00 22:.00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
N He Il 30.38 nm (log T=4.70)
T 049 ]
s C ]
€ 0.48¢
[O]
£ 047
S
£ 046
18:00 22:.00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00

Time (UT)



NE ESP 0—7 nm
2 0.25F 3
E 0.20F =
) \—} %\_ -
o 0.15F ‘%‘ R ——
C
< = =
2 0.10E =
e
S 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
NE ESP 17.1 nm
> 0.52 3
E o050 a =
§ 0.48 : \ - :
< = =
2 0.46E
e
S 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
NE ESP 25.7 nm
> 0.28F 3
E 027E "“"ﬁJl"“' ‘MW =
() - e -
S 0.26F ""‘W
C
< = =
2 0.25E E
e
S 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E ESP 30.4 nm
> 0.647 =
£ 0.633E\_ X s =
[0} - "M'H . 'm -
S 0.620 W#A%
5 - W, SN WA 3
£ 0.607E =
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
A ESP 36.6 nm
~
=
E
o]
2
2 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
NE MEGS—P 121.6 nm
= °8E g %W E
= mw A&ﬁ‘aﬁﬁﬁw ' =
[ M
2 5.8L |
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00

Time (UT)



Fe XX 13.28 nm (log 7=6.97)

Time (UT)

€
> 8.2x107|
E 7.7x107 (Rt tia
8 7.2x107
2 6.7x10™
2 18:00 22:00 02:00 10:00 14:00 06:00
- Time (UT)
E Fe XVIIl 9.39 nm (log T=6.81)
> 0.0042
E 0.0040 M
$ 0.0038
2 0.0036
2 18:00 22:00 02:00 10:00 14:00 06:00
- Time (UT)
ks Fe XVI 36.08 nm (log T=6.43)
> 2.25F =
E 175 =
S 1255 =
2 0.75E =
2 1800 22:00 02:00 10:00 14:00 06:00
- Time (UT)
E Fe XVI 33.54 nm (log T=6.43)
> 0.012 =
E 0010 W 3
[ - =
© 0.008F |
2 0.006 E
g 1800 22:00 02:00 10:00 14:00 06:00
- Time (UT)
'E Fe XV 28.42 nm (log T=6.30)
=
E
[0]
O
5
2
g 1800 22:00 02:00 10:00 14:00 06:00
- Time (UT)
'E Si XIl 49.94 nm (log T=6.29)
= -
E =
8 R -
5 i Mt v e
= i i
°
2 18:00 22:00 02:00 10:00 14:00 06:00
- Time (UT)
€ Fe XIV 21.13 nm (log T=6.27)
> 0.01370 =
E 0.01303 3
8 0.01237F =
2 0.01170E =
2 18:00 22:00 02:00 10:00 14:00 06:00
- Time (UT)
E Fe Xl 20.20 nm (log T=6.19)
= 0.0255 =
E 0.0245 =
$ 0.0235F
2 0.0225E
2 18:00 22:00 02:00 10:00 14:00 06:00



Irradiance (mW/m?)

Fe XIl 19.51 nm (log T=6.13)

0.032
0.031

0.030

0.029 -
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
E Fe XI 18.04 nm (log T=6.07)
> 0.048 =
E 0.048F =
§ 0.044; =
£ 0.042E
g 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
£ Mg X 62.49 nm (log T=6.05)
= 0.0087 =
E 0.0083 =
$ 0.0077 N
-2 0.0072
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
k= Mg IX 36.81 nm (log T=5.99)
= 0.0406
E 0.0393
$ 0.0380
g 0.0366 it e
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
£ Fe X 17.72 nm (log T=5.99)
> 0.0377
E 0.0363
$ 0.0350
2 0.0337
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E Ne VIl 77.04 nm (log T=5.81)
> 0.014F
E 0013
S 0.012 [FHn
£ 0.011
g 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E Fe IX 17.11 nm (log T=5.81)
= 0.060
E 0.058 Pites
8 0.056
2 0.054
g 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E Ne VIl 46.52 nm (log T=5.71)
> 0.0158F
E 001528
S 0.0148
2 0.0143
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00

Time (UT)



Irradiance (mW/m?)

(mw/m?)

Fe VI 13.12 nm (log T=5.57)

0.0024 [igilas

+ + -
0.0023 e -
$ 0.0022 ?
2 0.0021
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
e O VI 103.19 nm (log T=5.47)
= 0.056 i =
E 0.054 - : < + . =
[ o ot . + + - _
¢ 0.052F - Sl 5 o
£ 0.050E 4
g 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E O V 62.97 nm (log T=5.37)
> 0.046 =
E 0.045 bl ——— =
8 0.044 F . :
£ 0.043E
g 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E O IV 79.02 nm (log T=5.19)
= 0.016 " =
E + + -
E 0.015 gt was v b — — " =
o + ¥ =
© 0.014F £ " i
£ 0.013E
g 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E O IV 55.44 nm (log T=5.19)
> 0.0230 i 7 7, 7 - i
S i T & car iR
E 0.0228 PR Fien %%
S 0.0226 F :
2 0.0224E
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
'E O Il 59.96 nm (log T=4.92)
= 0.0046 b
E 0.0045 8
S 0.0044
2 0.0043
2 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
O Il 52.58 nm (log T=4.92)
2.50x107% N E i =
2.45X1O_3¢ﬂ1#+ +* A +:+$I- o fr :
_3 3‘:‘" l,fr s & ok o ery - 1.‘.}” v "‘," + 3
2.40% 107> frw i i Bgthie - L8 TR £
2.35x1073E A i iz S AN S I
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
e C Il 97.70 nm (log T=4.84)
> 0.130F
E 0.125Ex
& 0.120F
£ 0.115
g 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00

Time (UT)



Irradiance (mW/m?)

Irradiance (mW/m?)
o
o
Iy
S

Irradiance (mW/m?)

He Il 25.63 nm (log T=4.75)

0.030
0.029

06:00

06:00

H 1 102.57 nm (log T=3.84)

0.028
0.027
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00
Time (UT)
k= He Il 30.38 nm (log T=4.70)
> 049 =
E 0485 =
8 0.47F 3
2 0.46LE
g 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00
- Time (UT)
e O Il 71.85 nm (log T=4.48)
> 0.0024F, = K
€ : ’ o tgaddlie
E 0.0022 gt . L o~
Y
$ 0.0020 AR e
+ % i
2 0.0018 i : R
g 18:00 22:00 02:00 06:00 10:00 14:00
- Time (UT)
E He | 58.43 nm (log T=4.16)
=
E
[0]
O
C
S
©
g 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00
- Time (UT)

06:00

22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00
Time (UT)
H 1 97.25 nm (log T=3.84)
b + ot .
Rt g & . o0
PR, e y s 2
Ey F3 9 e T
02:00 06:00 10:00 14:00 18:00 22:00 02:00




Irradiance (mW/m?)

Irradiance (mW/m?)

Irradiance (mW/m?

Irradiance (mW/m?)

—_

—_

AlA 94 Channel

£
> 540F
E 520 il
8 500
-2 480 i i i e
g 18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
ks AIA 131 Channel
> 3467
E 333308
$ 3200
2 3067
g 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
AIA 171 Channel
9.90x10* -
9.63x10* i 3
9.36x10*F PR - -
9.10x10%E M X e bl A A At s e
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
AlIA 193 Channel
9.5x10*E -
9.0x10* %%—— ;
8.5x10*E jﬁ!.r-&mm———-a
8.0x10*E
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
AIA 211 Channel
2.9x10* -
2.8x10*F -
2.7x10*E -
2.6x10*E
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
AlA 304 Channel
.769x10*
742x10" s
716x10*F _—
689x10*E e A
18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT)
= AlIA 335 Channel
= 1500 =
£ 1400 =
$ 1300 =
2 1200
g 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00

Time (UT)



Irradiance (mW/m?)

Irradiance (mW/m?)

Irradiance (mW/m?)

Irradiance (mW/m?)

MEGS ESP 17.1 nm

0.58
0.56

0.54

W

0.52

I

—_—

SR

18:00

22:00

02:00

06:00 10:00 14:00

Time (UT)

18:00

MEGS ESP 25.7 nm

22:00

02:00

06:00

0.327
0.313

0.300
0.287

T —

e —

|

18:00

22:00

02:00

06:00 10:00 14:00

Time (UT)

18:00

MEGS ESP 30.4 nm

22:00

02:00

06:00

0.67
0.65

0.63

0.61

18:00

22:00

02:00

06:00 10:00 14:00

Time (UT)

18:00

MEGS ESP 36.6 nm

22:00

02:00

06:00

0.145
0.135

0.125

0.115

18:00

22:00 02:00

06:00 10:00 14:00

Time (UT)

18:00

22:00

02:00

06:00



E MEGS—AT
> 0433F 3
£ 0407k -
¢ OﬁBOWM
o
2 0.353
e
°  18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
t MEGS—A2
> 150 | 3
E 145F A 3
(0] - W
S 1.40 =
c - —
2 1.35E | =
S .
S 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E MEGS—B Short
= 0.275 3
E 0265 =
[ - 3
S 0.255
© =
g =
9 0.245E
e
°  18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
E MEGS—B Middle
= 0.206 N 3
E 0.193 . =
S 0.179 . . ., 3
Q —
S o.
2 0.166
°  18:00 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
- Time (UT)
“E MEGS—B Long
> 0.85]
E 080F
[0 =
S 0.75
c =
2 0.70E
S 1800 22:00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00

Time (UT)



